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PART 1 (46 points)

Answer the questions for (A) A Summer’s Reading.
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A. A SUMMER’S READING / Bernard Malamud
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Answer questions 1-5.
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1.  Because George lett school at the age of sixteen, he (-).
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(1) goes to night school
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(ii) works as a change-maker
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(iti) spends time with his friends
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(iv) stays at home all day
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(7 points)
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2. Mr. Cattanzara (-).
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(i) goes to the park with George
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(ii) reads newspapers after work
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(iii) works in the fish market
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(iv) takes books out of the library
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(7 points)
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3. Near the end of the story there is a rumor in the neighborhood that George (-).
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(i) went to the library to read books
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(ii) stopped going to the park
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(1ii) finished reading many books
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{iv) started working at the cafeteria
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(7 points)
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4. Explain the importance of Sophie in the story. Give information from the story to support your
answer.
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(10 points)

5. For this question, choose ONE of the thinking skills from the Appendix (n2v1) on page 10
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

When George meets Mr. Cattanzara for the second time, George knows he “loocked passable
on the outside, but inside he was crumbling apart”. Why does he feel that way?

Give information from the story to support your answer.
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(15 points)
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PART 1II (39 points)

What does Mrs. Jones tell Roger about her life? She tells him about her (-).
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10.  For this question, choose ONE of the thinking skills from the Appendix (n2v) on page 10

OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

What does Mrs. Jones mean when she says, “But you put yourself in contact with me. If you

think that that contact is not going to last awhile, you got another thought coming.”

Give information from the story to support your answer.
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(15 points)
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PART III (15 points)
Answer the question for either (11) The Treasure of Lemon Brown OR (12) The Road Not Taken.

Suggested length: 60-80 words.

11. THE TREASURE OF LEMON BROWN / Walter Dean Myers

“The value of something is in its importance, not in its cost.” — adapted from Aesop, Aesop’s Fables

Make a connection between the above quote and the story. Give information from the story to

Support your answer.

12. THE ROAD NOT TAKEN / Robert Frost

“I am what I am today because of the choices [ made yesterday.” — Steven R. Covey

Make a connection between the above quote and the poem. Give information from the poem to

SUpPOrt your answer.
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Use this page and the next (pages 9-10) for writing a rough draft.
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Write your final version here:

ST € ST T SIS TN SIS

I

/

V.
\
v
-

o, il g “ - - ~ "ase, e - ok o ol

Mo DNATISTISATIE (N GCULT TNILL U NI DR SN S-274 %
AT o \S =\ ~ e T - ans - SeNSN\ N/ Lo \NN\\

S A S A A S S N S S AN S S S AN S SN Ay

VAT QY A b VAR QN bl WP VAKX AL Y Alydd P A X T ALl P A K X Al

N NS VAN e\ SRR ~ o VN AN Ve
N O N A S RSO NSO NS
[4 Set XA Sun vy A Rl SALR Y AL, V\.[\vﬂaﬁ a.ﬂ &% V\/.l\nalpavﬂ\%V/. 4




TS N S N S S I /S T NS ST NS N NS S S TS VS AT NS AT VTS AT NS

NN N2 N7 N S 1 2 N 27 NS ) 2 NS 1 L SN 7 72 NS ) Se SIS D S RN 2 02 SN ) 52 S 70 372,

INNLp Pl INNNL1 " ) NS00 Z8INNCN L sars SLIN NS sy ) pN\ \/\\l‘\\\\//\/\\l‘\\\\//I\\l\\\\ =, PLNNN AoV I\ Y 0
4

. g - - - - - - - L - . - -, o> - Y, X

; \..v\.n._u.wv&v \.qv\.u._uﬂ.\w/.v TGN GCULT TNILL MU NSRSy \.ﬂvu_u\»AwAv \.qvm_u\;ﬁ&u R 05T € wre ey Y m_u\.,A&w %) .wh_uxﬁw
NS AT AT S RN AT SN e N N ) SN TZ N 7 SN e AT T2 A7 T2 N CAMEI A T AN AN A S R TN SN AT A 7 N A TN T AN AN
S Y S e S R S N S N eV S e AN S o N A S o N S R A S OV A O A Dt
i )

\ \ P VDNV T -/ S~/ ,
HV\ /\‘\hr\\\\\ \\'\l/\\\h\\\\ s BT o e V’/\\\n\\\\\\\ V\I/\\\h\\\\\\\\ “’/\\\n\\\\\\\ eI PAL TP VI AL T I D 'I/\I-\b\\\\\ PSCITAL TP IVIP A VDA PIIT i PP

- 10 ~

ot
oz W
1)
=] >
= par|
= 5]
o
- 5
2 = 0§ B
» = g a0
% 7 2 8%
< < O
=B =) wur,.MS
= s 8 8 o e
O k C.le.w e
st m ddsm e
= S 92 g b=
e - s .2 8 2,
o = o)
=) e T o0
Z &5 5 -§ E w B
= S mE S 2 E
(o T - 0«
P .Ilorl
A mﬁpcep
< O.lxnrmX
O A M- 5

NovY+414,016115,016484°0Dn ,N”YWn 9NN N0 IIIIN
®
®
®
®
®
®






